PacyerT xakeTa




PacyeT »XaKeTa




* PacueT NnofoyKu

1.Ha6op: 28cMm x 3n = 84n =42 042
2. 0o npoiimbl 33cM x4 p = 132p

3. Mpoma 6¢cM x 3n = 18n 3aKpbITb
4. lopnoBuHa

rnyébuna 25cm x 4p = 100 p
LLvpuHa 20cm :2 = 10cMm x 3n = 30n
100p : 30 n = 3 (ocraTok 10)
Y6aBkm 10x1x4 =40
30—-10=20x1x3 =60

10 + 20 = 30n 40 + 60 = 100p

5. NMnevo 14cM X 3n =42 n 3aKpbITb

33cm




* PacueT pykaBa

1.Ha6op 30cMm x 3n = 90n

2. AnvHa pykaBa 45cMm x 4p = 180 p
3.B A BbicoTa 45cMm x 4p = 180p
OcHoBaHue 50cM — 30cM = 20cMm : 2 = 10cM 45cMm
10cMx3n=30n
180p:30n =6

Y6aBkm 30 x1x6 = 180p

30cMm



PacyeT CNUHKWK

1.Ha6op: 56cm x 3n = 168n = 84 0 84

2. Ao npoimbl 33cM x4 p = 132p

3. Mpovima 6¢cMm x 3n = 18n 3aKpbITb

4. 10 ropsoBUHbI 25CM — 2CM = 23CcM X 4p
92p

5. lopnoBuHa

FnybuHa 2cMm x 4p = 8p : 2 npeMma = 4 a3t

LLnpuHa 20cm :12 = 10cMm x 3n = 30n

30n:4 a3 =8877

6. NMneuo 14cMm x 3n =42 n 3aKpbITb




